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UNIVERSITY OF NORTH BENGAL 

B.A./B.Sc. Programme 6th Semester Examination, 2021  

GE2-ECONOMICS 

Time Allotted: 2 Hours Full Marks: 60 

ASSIGNMENT 

The figures in the margin indicate full marks. 

 

The question paper contains paper GE-2A, GE-2B and GE-2C. 

The candidates are required to answer any one from three courses. 

Candidates should mention it clearly on the Answer Book. 

 GE-2A 

MACRO ECONOMICS 

 

 GROUP-A / বিভাগ-ক   

 Answer any two questions from the following 20×2 = 40 

 বিম্নবিবিত যে-যকাি দুটি  প্রশ্নের উত্তর দাও  

1.  (a) Describe different concepts of national income. 8+12 = 20 

 জাতীয় আয়য়য বফববন্ন ধাযণাগুবর ফণণনা কয।  

(b) Explain the production census method of measuring national income.  

 জাতীয় আয়য়য ঩বযভায়঩য উৎ঩াদন ঳ুভাযী ঩দ্ধবতবি আয়রাচনা কয।  

   

2.   Explain classical theory of output and employment. 20 

 আয় ও বনয়য়াগ বনধণাযয়ণ ধ্রু঩বদ তত্ত্ববি আয়রাচনা কয।  

   

3.  (a) What do you mean by Marginal Propensity to Consume (MPC)? 4+16 = 20 

 প্রাবিক ভবাগ প্রফণতা ফরয়ত কী ভফাঝ ?  

(b)   Explain the concept of investment multiplier with suitable diagram.  

 উ঩মুক্ত বচত্র঳঴ বফবনয়য়াগ গুণয়কয ধাযণাবি ফযাখ্যা কয।  

   

4.  (a) What do you mean by Inflationary gap? 10+10 =20 

 ‘ভুদ্রাবিবতয পাাঁক’ (Inflationary gap) ফরয়ত কী ভফাঝ ?  
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(b) Distinguish between Demand Pull and Cost Push Inflation.  

 চাব঴দাজবনত ভুদ্রাবিবত (Demand Pull) ফা ফযয়জবনত ভুদ্রাবিবত (Cost Push) এয ভয়ধয ঩াথণকয 

কয। 

 

   

 GROUP-B / বিভাগ-ি   

 Answer any two questions from the following 10×2 = 20 

 বিম্নবিবিত যে-যকাি দুটি  প্রশ্নের উত্তর দাও  

5. Briefly discuss the difficulties in measuring National Income. 10 

 জাতীয় আয় ঩বযভায়঩য অ঳ুবফধাগুবর ফণণনা কয।  

   

6.   Explain Quantity Theory of Money. 10 

 অয়থণয ঩বযভাণ তত্ত্ববি ফযাখ্যা কয।  

   

7. Describe Say’s law of market. 10 

 ভ঳-এয ফাজায বফবধবি আয়রাচনা কয।  

   

8. Describe circular flow of income in an economy. 10 

 একবি অথণনীবতয়ত আয়য়য ফৃত্ত ভরায়তয ধাযণাবি ফযাখ্যা কয।  

   

 GE-2B 

INDIAN ECONOMY-II 

 

 GROUP-A / বিভাগ-ক   

 Answer any two questions from the following 20×2 = 40 

 বিম্নবিবিত যে-যকাি দুটি  প্রশ্নের উত্তর দাও  

1.   Discuss the role of Cottage and Small-Scale Industries in India’s economic 

development. 
20 

 বাযয়তয অথণননবতক উন্নয়য়ন ক্ষুদ্র ও কুিীয ব঱য়েয ভূবভকা আয়রাচনা কয।  

   

2.   Discuss various social security measures adopted in India. 20 

 বাযয়তয বফববন্ন ঳াভাবজক বনযা঩ত্তাভূরক ফযফস্থাগুবর আয়রাচনা কয।  

   

3.   Write a note on functions of Reserve Bank of India. 20 

 বাযতীয় বযজাবণ ফযাাংক (RBI) এয বফববন্ন কামণযাফবর আয়রাচনা কয।  
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4.  (a) What are objectives of economic planning in India? 10+10 =20 

 বাযয়তয অথণননবতক ঩বযকেনায উয়ে঱যগুবর আয়রাচনা কয।  

  (b) Discuss the failures of India’s Five Year Plan.  

 বাযয়ত ঩ঞ্চফাবলণকী ঩বযকেনায ফযথণতাগুবর আয়রাচনা কয।  

   

 GROUP-B / বিভাগ-ি   

 Answer any two questions from the following 10×2 = 20 

 বিম্নবিবিত যে-যকাি দুটি  প্রশ্নের উত্তর দাও  

5. Identify some of the problems associated with development of small-scale 

industries in India.  
10 

 বাযয়ত ক্ষুদ্র ও কুিীয ব঱য়েয ঳ভ঳যাগুবর বচবিত কয।  

   

6.   Discuss how Reserve Bank of India controls supply of credit in the country. 10 

 বযজাবণ ফযাাংয়কয (RBI) ঋণ বনয়ন্ত্রণ ঩দ্ধবতগুবর আয়রাচনা কয।  

   

7. What is meant by money supply? Give a brief description of different 

components of money supply in India. 
5+5 = 10 

 অয়থণয ভমাগান ফরয়ত কী ভফাঝ ? বাযয়ত অয়থণয ভমাগায়নয বফববন্ন উ঩াদানগুবর ঳াংয়েয়঩ আয়রাচনা 

কয। 

 

   

8. Discuss the causes of Industrial Dispute in India. 10 

 বাযয়ত ব঱ে বফয়যাধ-এয কাযণগুবর আয়রাচনা কয।  

   

 GE-2C 

PUBLIC FINANCE 

 

 GROUP-A / বিভাগ-ক   

 Answer any two questions from the following 20×2 = 40 

 বিম্নবিবিত যে-যকাি দুটি  প্রশ্নের উত্তর দাও  

1.  (a) Distinguish between positive and negative externalities with example.  8+12 = 20 

 উদা঴যণ঳঴ ফাব঴যক ঳ুবফধা (Positive Externality) এফাং ফাব঴যক অ঳ুবফধা (Negative 

Externality) এয ভয়ধয ঩াথণকয কয। 

 

(b) Explain how existence of public good may give rise to the problem of externality.  

 কীবায়ফ ঳যকাযী দ্রয়ফযয (Public good) উ঩বস্থবত ফাব঴যক ঳ুবফধায় ঳঴ায়তা কয়য ?  
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2.   Critically explain Ability to Pay principle of taxation.  20 

 ঳ভায়রাচনা঳঴ েভতা অনুমায়ী কয প্রদান (Ability to Pay) এয তত্ত্ববি আয়রাচনা কয।  

   

3.  (a) What do you mean by direct tax and indirect tax? 4+16 = 20 

 প্রতযে কয এফাং ঩য়যাে কয ফরয়ত কী ভফাঝ ?  

  (b) What are the characteristics of direct tax and indirect tax?  

 প্রতযে কয এফাং ঩য়যাে কয়যয বফব঱ষ্ট্যগুবর আয়রাচনা কয।  

   

4.  (a) What do you mean by burden of public debt? 6+14 = 20 

 ঳যকাযী ঋয়ণয ভফাঝা ফরয়ত কী ভফাঝ ?  

  (b) Do you think that internally held public debt is better than externally held public 

debt? – Justify your view. 
 

 তুবভ কী ভয়ন কয ভম ফাব঴যক ঳যকাযী ঋণ অয়঩ো আবযিযীণ ঳যকাযী ঋণ ভফব঱ মথামত।  

   

 GROUP-B / বিভাগ-ি   

 Answer any two questions from the following 10×2 = 20 

 বিম্নবিবিত যে-যকাি দুটি  প্রশ্নের উত্তর দাও  

5.  (a) What is Pareto efficiency? 4+6 = 10 

 ‘Pareto Efficiency’ ফরয়ত কী ভফাঝ ?  

  (b) Identify some of the causes of market failure.  

 ফাজায ফযফস্থায ফযথণতায ঳ম্ভাফয কাযণগুবর আয়রাচনা কয।  

   

6.   Write a short note on Fiscal Federalism in India. 10 

 মুক্তযাষ্ট্রীয় কয ফযফস্থা (Fiscal Federalism) ঳ম্পয়কণ একবি িীকা ভরখ্।  

   

7. Explain the Benefit principle of taxation. 10 

 কয়যয ঳ুবফধায তত্ত্ববি (Benefit Principle) ফযাখ্যা কয।  

   

8. Define Public Good. What are its salient features? 10 

 ঳যকাযী দ্রফয ফরয়ত কী ভফাঝ ? ঳যকাযী দ্রয়ফযয বফববন্ন বফব঱ষ্ট্য আয়রাচনা কয।  

 
——×—— 

 

 


